2024 New Zealand Angus Bull Sale Results

The information on this page has been compiled from media reports and notifications from vendors and agents. Entries are listed according to sale dates from January to December. Bull sale statistics compiled by New Zealand Members are based on information provided by members and may not necessarily be a complete record of all Angus bulls sold by auction. In addition, the many Angus bulls sold by Private Treaty are not included in these statistics. Although all members will be contacted after each sale, if this information is not supplied by members, Angus Australia may refer to media publications and social media to compile statistics.

2 YEAR OLD SALES				
STUD NAME	BULLS OFFERED	BULLS SOLD	AVG NZ\$	TOP NZ\$
Oranga Angus	50	50	\$3,512	\$5,900
Komako Angus	34	34	\$5,461	\$12,000
Kakahu Angus	34	34	\$5,970	\$11,500
Ranui Angus	32	32	\$4,048	\$8,000
Twin Oaks Angus	55	55	\$5,480	\$12,500
Rissington Cattle Co. Angus	145	145	\$7,517	\$12,500
Stokman Angus	114	114	\$5,337	\$30,000
Totaranui Angus	76	79	\$4,453	\$9,000
2 YEAR OLD TOTALS	540	543	\$5,608	\$30,000

YEARLING BULL SALES				
STUD NAME	BULLS OFFERED	BULLS SOLD	AVG NZ\$	TOP NZ\$
Seven Hills Angus	42	52	\$7,400	\$13,000
Whangara Angus	30	38	\$7,316	\$14,000
Te Mania Angus	109	114	\$9,577	\$42,000
Kakahu Angus	62	69	\$9,758	\$22,500
Grampians Angus	60	60	\$10,200	\$15,500
Cleardale Station Angus	21	25	\$6,690	\$11,000

Ngaputahi Station Angus	44	47	\$7,971	\$16,000
Totaranui Stud	31	34	\$8,155	\$14,000
Twin Oaks Angus	52	60	\$9,153	\$17,000
Ranui Angus	36	39	\$7,200	\$12,000
Waitangi Angus	46	50	\$6,260	\$13,500
Storth Oaks Angus	60	85	\$7,788	\$18,500
Mount Linton Station Angus	39	47	\$7,250	\$13,000
Wairere Angus	16	18	\$7,250	\$11,000
YEARLING TOTALS	648	738	\$8,313	\$42,000

50	\$3,512	\$175,600	
34	\$5,461	\$185,674	
34	\$5,970	\$202,980	
32	\$4,048	\$129,536	
55	\$5,480	\$301,400	
145	\$7,517	\$1,089,965	
114	\$5,337	\$608,418	
79	\$4,453	\$351,787	
543	\$41,778	\$3,045,360 \$5,608.40	
52	\$7,400	\$384,800	
38	\$7,316	\$278,008	
114	\$9,577	\$1,091,778	
69	\$9,758	\$673,302	
60	\$10,200	\$612,000	
25	\$6,690	\$167,250	
	34 34 32 55 145 114 79 543 52 38 114 69 60	34 \$5,461 34 \$5,970 32 \$4,048 55 \$5,480 145 \$7,517 114 \$5,337 79 \$4,453 543 \$41,778 52 \$7,400 38 \$7,316 114 \$9,577 69 \$9,758 60 \$10,200	34 \$5,461 \$185,674 34 \$5,970 \$202,980 32 \$4,048 \$129,536 55 \$5,480 \$301,400 145 \$7,517 \$1,089,965 114 \$5,337 \$608,418 79 \$4,453 \$351,787 543 \$41,778 \$3,045,360 \$5,608.40 52 \$7,400 \$384,800 38 \$7,316 \$278,008 114 \$9,577 \$1,091,778 69 \$9,758 \$673,302 60 \$10,200 \$612,000

44	47	\$7,971	\$374,637
31	34	\$8,155	\$277,270
52	60	\$9,153	\$549,180
36	39	\$7,200	\$280,800
46	50	\$6,260	\$313,000
60	85	\$7,788	\$661,980
39	47	\$7,250	\$340,750
16	18	\$7,250	\$130,500
648	738	\$111,968	\$6,135,255 \$8,313.35